Capital Budgeting Techniques
A. NON-discounted CF (Cash Flow) techniques 

1. Total Cash Flow (CF)
TCF = ΣCF   (NOT discounted)
2. Accounting rate of return (ARR)

ARR = Average annual [after tax] income
Average investment over project life

3. Payback period (PP): If not specified discounted PP, assume we want the NON discounted PP
B. DISCOUNTED CF (Cash Flow) techniques

4. Discounted payback period: Do not confuse with regular PP

5. NPV: Net Present Value)
NPV = Σ of all CF (including initial investment) discounted to Y0
6. I- Profitability index (PI)
PI > 1   => Future CF > Investment
PI = 
ΣCF (future CF)

Project is worth more than investment

IC


Take the project!
PI < 1   => Future CF < Investment

Expect less $ than the investment

Don’t do it; put your money in the bank!

 6.II-Present Value Ratio (PVR)

PVR > 0   => Net Present Value is positive

PVR =
NPV



Project is worth more than investment
IC



Take the project!
PVR < 0   => NPV is negative

Project will make you lose money

Don’t do it; put your money in the bank

6. Internal Rate of Return (IRR): Discount rate at which NPV = 0
Discount Rate (I) < IRR: take the project

You earn IRR on your investment while paying I for your capital

Discount rate > IRR: do not take the project


You would pay more for the capital than what the project will earn you
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	Method
	Advantages
	Disadvantages

	TCF
	Quick & Simple
	Disregards TVM, 

	ARR
	Quick & Simple
	Disregards TVM and

	 
	 
	timing of profits,

	 
	 
	Ignores project life

	PP
	Accounts project life
	Disregards TVM

	 
	Quick & Simple
	Ignores CF order before PP

	 
	 
	Ingors all CF after PP 

	 
	 
	Does not measure economic efficiency

	
	
	

	Discounted
	
	

	
	
	

	Method
	Advantages
	Disadvantages

	Disc. PP
	Accounts project life
	Ignores CF order before PP

	 
	 
	Ingors all CF after PP 

	 
	 
	Does not measure economic efficiency

	NPV
	Tells you how much you
	 

	 
	should be willing to pay
	 

	 
	Measures economic efficiency
	 

	PI
	Scales your profits with IC
	Does not measure investment efficiency

	 
	Easy to interpret
	 

	PVR
	Measures economic efficiency
	 

	 
	Gives a + - ratio
	 

	IRR
	Easy to interpret
	IRR might not exist

	 
	Very accurate representation
	Could have many IRR

	 
	easily compared with CC
	 


